Question Scheme Marks AOs

13) a+pf+y=8, af+Py+ya=28. afy=32 Bl 3.1a
1 1 1 pBr+aoy+ap
a p y apy
=l Alft 1.1b
8
3)
(i) (a+2)(B+2)(y+2)=(af+2a+28+4)(y+2) M1 1.1b
=a,B7+2(aﬂ+ay+ﬂy)+4(a+ﬂ+y)+8 Al 1.1b
=32+2(28)+4(8)+8=128 Al | L1b
3)
Alternative:
(x—2) —8(x—2)" +28(x~2)-32=0 Ml | L1b
=.—8+..—-32+...-56-32=-128 Al 1.1b
(a+2)(B+2)(r+2)=128 Al 1.1b
3)
(iii) 2+ pry=(a+p+y) -2(af+ay+py) Ml | 3.la
—82-2(28)=8 Alft | 11b
(2)
(8 marks)
Notes:
(@)

B1: Identifies the correct values for all 3 expressions (can score anywhere)
M1: Uses a correct identity

Alft: Correct value (follow through their 8, 28 and 32)

(i)

MI1: Attempts to expand

Al: Correct expansion

Al: Correct value

Alternative:
M1: Substitutes x — 2 for x in the given cubic

Al: Calculates the correct constant term

Al: Changes sign and so obtains the correct value
(i)
M1: Establishes the correct identity

Alft: Correct value (follow through their 8, 28 and 32)




